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(i) (a+ b)?=a + 2ab + b, (ii) (a - b)*=a® - 2ab + b?,
(iii) (a + b) (a - b) = & - b?
_ﬁﬂquaui&duqswéﬂmKu,bawgw&
(i) (x+2y)=x*+ |:| + 47
(i) (2x - 5y)* = |:| - 20xy + |:|
(i) (101)>= (100 + 1)>=[ [+ |+12=[ |
(iv) (98)* = (100 - 2)>=10000-| |+| |=| |
(V) (5Sm+3n)(sm-3n)=| _|-| |=| |-| |
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(x+a)x+b)=x+ax + bx + ab

(x+a)x+b)=x*+(a+b)x+ ab
( [Expansion of & +a) (x +b)] : & ?d/ x+a)x+b) () )
LS AU gt U Sl (x4 ) 41 (x + a)
x+ax+b)=x(x+b)+ax+b)=x*+bx+ ax+ ab

=x’+(a+b)x+ ab

(x+a)x+b)=x*+(a+b)x+ ab




Jé (1) (Xx+2)(x+3) =x+2+3)x+(2x3)=x*+5x+6

Joe@ +HY-3) =y +@ -3+ @A) x(-3)=y"+y-12

Je3) (2a+3b)(2a-3b) =(2a)" +[(3b) + (- 3b)]2a +[3D x (-3D)]
=40 +0%x2a- 9b°=4a -9’

Je @) (m+%j ("H%j =m’+ G+%) m + % X % =m’+2m + %

Ji s (x-3)(x-7) =x+ (-3-Tx+(-3)(-7) =x*-10x + 21
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(1) (a+2)(a-1) (2) (m - 4)(m + 6) (3) (p+8)p-3)
(4) (13 +x)(13 -x) (5) Bx +4y)(3x + 5py) (6) (9x - 5£)(9x + 31)

)Y Wil ol

AT

C [Expansion of @+ 5)*] &3S (a + b)® (Il)j

(a+ bY=(a+b)(a+b)(a+b)=(a+b) (a+b)’
=(a+ b){(& +2ab + b

=a(d +2ab + b)) + b(a* + 2ab + b?)
=a + 2a’h + ab’ + bd* + 2ab* + b’

=a +3a°b + 3ab* + b’

(a+ b)Y’=a +3a°b +3ab*+ b*
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(x + 3)3 .1 J@,
(a+by'=a +3¢b +3ab* + b S

- b=3 s a=xJl



S+ = () +3xxPx3+3xxx(3)2+(3)
=X+ 9x*+ 27x +27

(3x + 4p)° = (3x)° + 3(3x)*(4y) + 3(3x)(4y)* + (4y)’
=27x + 3 X 9x? X 4y + 3 x 3x X 16)* + 64)°

J& )
=27x° + 108X’y + 144x)" + 64 y°
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JV 3) [ n +2m] ( n ] i ( n j (ij+ [ n j(ij +(2m]
3 2 ) 2 3
:8nz +3£4nz j(LjJﬂ(@J[ " 2j+ " 3
n n 2m n dm m

3 3
8m” 6m 3n n

n n  2m 8m’
Je@ay (417 = (40 + 1)° = (40)° + 3 x (40)* X 1 +3 x 40 x (1)* + (1)’
= 64000 + 4800 + 120+ 1 = 68921
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(1) (k + 4)° (2) (7x + 8p)’ (3) (7 + m)* (4) (52)°
(5) (101 @[t o el @ [%ﬁé)
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C [Expansion of (a — 53] & 7S (a-b)3 (IHD
(a-b)Y =(a-b)(a-b)(a-b)=(a-b)a-b)
=(a-b)(d&@-2ab +b?)
= a(d® -2ab +b*) - b(d&* - 2ab + b?)




=@ -2a°Hb + ab* - &*b + 2ab* - b’
=a -3ab +3ab* - b’
(a-b)=a*-3a*b +3ab*-b*

(Xx-2) EET1e
(a-b)Y=ad-3ab +3ab’ - b SHELA
S b=2uma=x Ul
Xx=-2P=((x)P-3xx*x2+3xxx(2)*-(2)
=X’ -6x"+ 12x - 8
_Z S (4p - sg) 2 Je
(4p - 59)° = (4p)’ - 3(4p)*(5q) + 3(4p)(5q)* - (5g)°
(4p - 5q)° = 64p° - 240p*q + 300pq* - 125¢°

_GE e A 99 LN g 3 e
(99)* = (100 - 1)°
(99)*= (100)* = 3 x (100)* X 1+ 3 x 100 x (1)? - 13
= 1000000 - 30000 + 300 -1 = 9,70,299
-éul/!’ 14 J¢
Hp+q)+{p-q)
=P EIWQEIE @+ P -3 g+ 3pg - q
=2p’ + 6pg*
(i) (2x + 3y)* - (2x - 3y)°
= [(2x)° + 3(2x)*(3y) + 3(2x)(3y)* + (3y)°]
- [(2x)° - 3(2%)*(3y) + 3(20)(3y)* - (3y)’]
= (8X7+ 36x7y + 54x)° + 27y°) - (8x' - 36x%y + 54x)° - 27)°)
= 8X° +36X7y + 54x)” + 277 - 8x7 + 36X’y - S4xy” + 27y’
= 72x*y + 54)°

TR

D) (a+ bY=a+3ab+3ab*+ b’ =a + b’ + 3ab(a+ b)

(i) (a- b)’=a - 3a¢*b + 3ab* - b* =3’ - b’ - 3ab(a - b)
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(1) 2m - 5)° (2) (4-p)y (3)(7x - 9y)’ (4) (58)°
3 b i 1 3 x_3 3
(5) (198) © 2] o] ®F]
S 2
(1) (2a+ b)* - (2a - b)? (2) 3r - 2k)* + (3r + 2k)°
(3) (4a-3)° - (4a+3)° (4) 5x - Tv) + (5x + Ty)°
u’faz’g_f

(& [Expansion of (@+b+ 0| €34 (@+b+9? (AV) |
(a+b+c¢)) =(a+b+c)x(a+b+c)

=a(a+bh+c)+b(a+b+c)+c(a+b+c)
=d+ab+ac+ab+b*+bc+ ac+ bc + &

=@+ b+ +2ab + 2bc + 2ac

SHa+b+e)=d+ b+ +2ab + 2bc + 2ac

—e bt bl
_EEIS prq+d? 1
=P+ @+ BV +2XpXqg+2XgxX3+2XpX3
=p'+q +9+2pq+6g+6p =p'+q +2pg+6q+6p+9
U Lok LIS 2 U
(2p + 3m + 4n)*
=P+ Gm)? +[_J+2x2px3m+2x[__[x4n+2x2px[ |
= J+om*+[ |+ 12pm+[ ]+ ]
-é/‘?:3df‘f
([+2m+n)?+(-2m+n)
=l +dm* + P+ 4lm + dmn + 2ln + F + 4m*> + n* - 4lm - 4mn + 2In

=20+ 8m?+2n* + 4iln
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(1) 2p+q+5)° (2) (m + 2n + 3r)? SRy
(3) (Bx + 4y - 5p)* (4) (Tm - 3n - 4k)*
(1) (x -2y + 3)" + (x + 2y -3)° LS
(2) Bk -4r -2m)* - (3k + 4r - 2m)? (3) (7Ta-6b + 5¢)* + (7Ta+ 6b - 5¢)?
u/}d/ag!:?
51 (1) v a-2 (2) m?+ 2m - 24 (3) p*+ 5p - 24
(4) 169 - x? (5) 9x* + 27xy + 20> (6) 81x* - 18xf - 15
5
Mymr-=>m-12 (6) X - — (9) L2 36
3 9 X yoy
cr§7 52 (1) + 12k + 48k + 64 (2) 343X° + 1176x%y + 1344x)" + 512)°
(2) 343 + 147m + 21m>+ m®  (4) 140608 (5) 1030301
(6) X +3x+ > + & (7) g 4 12m°  Om 1
x X 25 125
3
125x°  15x  3Y 4
2% 4+ + :
(8) [ER sx T osa
75310 (1) 8m* - 60m* + 150m - 125 (2) 64 - 48p + 12 p* - p*
(3) 343x° - 1323x%y + 1701xy° - 729" (4) 1,95,112
(5) 77,62,392 (6) 8p° - 6p + >
2p 8p
3031 ;
(7) 1= —+—5——% (8) X 2%
a a a 27 X x
2. (1)24b + 2b° (2) 547 + 72 1k
(3) -2884" - 54 (4) 250x%° + 1470 x)”

er$ 54 1. (1) 4p* + ¢* + 25 + 4pg +10g + 20p
(2) m* + 4n* + 99 + dmn + 12nr + 6mr
(3) 9x* + 16y” + 25p™+ 24 xy-40py-30px
(4) 49m° + 9n® + 16k - 42mn + 24nk - S6km
2. (1) 20 + 82 + 18 - 24y (2) 32rm - 48kr
(3) 984 + 720" + 50¢* - 120bc
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